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Summary

The law of supply is a fundamental economic principle that states that, all other factors being equal, an
increase in the price of a good or service will lead to an increase in the quantity supplied. This means that as
the price of a good or service goes up, businesses will be willing and able to produce more of that good or
service.

Supply curve, is a graph that shows the relationship between the price of a good or service and the
quantity supplied. Supply curves are typically upward-sloping, meaning that as the price of a good or service
increases, the quantity supplied also increases.

Factors supply, these factors can cause the supply curve to shift either to the right (increasing supply) or

to the left (decreasing supply). Here are some of the key factors that affect supply:

* Price of the good or service: The most direct and obvious factor affecting supply is the price. As the price

of good or service increases, producers are incentivized to produce more of it, as they can earn higher
profits.

* |nput costs: The prices of the inputs used in production can also affect supply. If the cost of inputs, such as
raw materials, labor, or energy, increases, it becomes more expensive to produce. This can lead to a
decrease in supply, as producers may be less willing to produce at a higher cost.

* Technology: New technologies can make production processes more efficient, reduce costs, and allow for
greater output. This can lead to an increase in supply, as producers can produce more goods at lower cost.

* Expectations about future prices: If producers expect prices to rise in the future, they may be more likely to

increase production today in order to take advantage of higher prices. Conversely, if producers expect prices
to fall, they may be more likely to reduce production today to avoid losses.

* Government regulations: such as taxes, subsidies, or environmental regulations. Taxes can increase the

cost of production, leading to a decrease in supply. Subsidies can reduce the cost of production, leading to
an increase in supply. Environmental regulations can increase the cost of production or restrict production,
leading to a decrease in supply.

* Number of suppliers: If there are more suppliers, there is more competition, which can put downward

pressure on prices and lead to an increase in supply. Conversely, if there are fewer suppliers, there is less
competition, which can allow suppliers to charge higher prices and reduce supply.

* Natural disasters or unexpected events: Natural disasters, such as floods, earthquakes, or droughts, can

disrupt production and transportation, leading to a decrease in supply. Other unexpected events, such as
political instability or global pandemics, can also affect supply by disrupting production, transportation...
Elasticity of supply is a measure of how responsive the quantity supplied of a good or service is to a
change in its price. It is calculated as the percentage change in quantity supplied divided by the percentage
change in price. Elasticity of supply = (% change in quantity supplied) / (% change in price)

If the elasticity of supply is greater than 1, the supply is elastic. This means that a small change in price
will lead to a large change in quantity supplied. If the elasticity of supply is less than 1, the supply is inelastic.

This means that a large change in price will lead to a small change in quantity supplied.



